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ITU    CIVIL ENGINEERING FACULTY

WATER SUPPLY AND ENVIRONMENTAL SANITATIONPRIVATE 


RECITATION 2 —


          FLOW CHARACTERISTICS

1st Question:

It is considered that there is 20% leakage loss in the water supply network of a town. Total discharge pumped to the network is 1000 lt/s. If the pressure head of the network is decreased to 25 m from 50 m, what will be the amount of saved fresh water discharge?

2nd Question: 

Maximum hourly fresh water consumption (max. qhr) of a county composed of 10 blocks each containing 30 condos is  450 l/individual/day. Consider a mean population of 5 people per condo.

a) Find the water demand of this county on hourly and daily basis ( =  = 1.5).

b) If the water demand of the county is pumped by means of pumps, what is the total amount of water that will be pumped to the system for a 30 years of operation time.

3rd Question:

A river having a drainage area of 453 km2 has a minimum discharge of 0.984 l/s/km2.

(Consider max. qday = 430 l/ind./day)

a) How many people’s water demand can be supplied from the river?

b) If a dam with 14 000 000 m3/year capacity is constructed on the river, how many people’s water demand can be supplied from the river?

4th Question:

Population of Side was 200 000 at 1980, and since this year an arithmetical increase is considered for the future population estimates (= 1.4, mean qday = 100 l/ind./day, ka = 3000).

a) If a waste water disposal utility with a capacity of 35 000 m3/day was present at 1980, calculate until when this utility can be used without any modification.

b) Calculate to what amount should the water consumption be reduced to use this utility until the year 2000 without any modification.
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